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QUESTION 1

When designing a network .Which method can be used to control the exit point for traffic an autonomous system, at the
layer 3 control plane? 

A. Prepending AS path. 

B. Tuning the multi-exit discriminator. 

C. Setting the site of Origin extended community. 

D. Tuning the metric of the under-tying IGP. 

Correct Answer: D 

 

QUESTION 2

You are performing a BGP design review for a service provider that offers MPLS-based services to their end customers.
The network is comprised of several PE routers that run iBGP with a pair of route reflectors for all BGP address families.
Which two options about the use of Constrained Route Distribution for BGP/MPLS VPNs are true? (Choose two.) 

A. The RRs do not need to advertise any route target filter toward the PE routers 

B. The RR must advertise the default route target filter toward the PE routers 

C. Both PE and RR routers must support this feature 

D. This feature must be enabled on all devices in the network at the same time 

E. Route distinguishers are used to constrain routing updates 

Correct Answer: BC 

 

QUESTION 3

You are working on a network design plan for a company with approximately 2000 sites. The sites will be connected
using the public Internet. You plan to use private IP addressing in the network design, which will be routed without NAT
through an encrypted WAN network. Some sites will be connected to the Internet with dynamic public IP addresses, and
these addresses may change occasionally. Which VPN solution will support these design requirements? 

A. GET VPN must be used, because DMVPN does not scale to 2000 sites. 

B. DMVPN must be used, because GET VPN does not scale to 2000 sites. 

C. GET VPN must be used, because private IP addresses cannot be transferred with DMVPN through the public
Internet. 

D. DMVPN must be used, because private IP addresses cannot be transferred with GET VPN through the public
Internet. 

E. GET VPN must be used, because DMVPN does not support dynamic IP addresses for some sites. 
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F. DMVPN must be used, because GET VPN does not support dynamic IP addresses for some sites. 

Correct Answer: D 

 

QUESTION 4

Which two options are considered risks or concerns when both the Internet and VPN service functions are on the same
PE router? (Choose two.) 

A. Internet-based attacks can affect VPN customers. 

B. BGP cannot simultaneously run on the PE router that runs MPLS. 

C. MP-BGP prefixes increase routers\\' global routing tables, which affects network convergence. 

D. Failure on the PE router affects both VPN and Internet services. 

E. Customer performance can be affected by VPN traffic if Internet-based traffic is not prioritized on the PE 

Correct Answer: AD 

 

QUESTION 5

Refer to the exhibit. 

You are designing a data center migration from one location to another, which requires all existing VLANs spanned to
the new data center to maintain host IP addressing. Two temporary Gigabit Ethernet circuits are available to extend the
VLANs at Layer 2 to the location as trunk links between core switches in each location. Which solution provides
maximum fault isolation between the two data centers to ensure a Layer Issue in one data center does not affect the
other during the migration? 

A. Perform BPDU filtering over the trunk links 

B. Enable STP PortFast on host ports within each data center 

C. Run the dual links as multichassis Etherchannel trunk between core switches within each location 
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D. Perform HSRP filtering over the trunk links to maintain active HSRP gateways within each data center for each
VLAN 

Correct Answer: A 
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